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3x 5-  

 2x-6 = 70        2x = 76         X = 38  )الف           پاسخ : 

)ب                3x-5 = 7        3x = 12       X = 4 

برابر یک عدد   5واحد کمتر از    7الف(    17 +
𝑥
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 ب( 

  5x – 7      )یک عدد   نصفواحد بیشتر از    17ب( پاسخ :  الف  

X + y 
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P = ( x + y + 6 ) x 2 S = 6 ( x + y )  : پاسخ 

 9 = )3( 3 = ))1-(-2( 3 پاسخ : 

4x -2 = 2x -6 

4x -2x = -6 +2       2x = -4       x = -2 
 پاسخ : 

3x -2xy +4 

 پاسخ : سه جمله دارد. 
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5  ×  20  –   3=    97 پاسخ :   

 P = 4a + 4a + 4a = 12a پاسخ : 

5 )x -2y ( -3x +5y 

5x -10y -3x +5y = 2x -5y  : پاسخ 

4xy 7 وxy 6- وxy  : پاسخ 


